2022-06-22 Rabbit 22.6. Lopputulos
4 poytid, 8 paria. Jakomiard: 18. Keski: 54. Vertailu.
Sija Pari Pisteet % Vert Nimi J-ID Kerho
1 6 74 68,5 Jarmo Laakso - Matti Rintala 1365 3024 Salon Bk
2 7 64 593 2 Janne Blomgqyvist - Timo Mékeld 2840 1319 Salon Bk
3 3 64 593 0 Jaakko Salo - Merja Molsd 2981 2839 Salon Bk
4 5 56 519 Taisto Louhikoski - Matti Alanko 2741 2736 Salon Bk
5 4 49 454 Elise Jauros - Outi Yrttiranta 1761 2746 Salon Bk
6 2 44 40,7 Riitta-Liisa Mékeld - Antti Voitto 1318 1391 Salon Bk - Ei SBL:n jdsen
7 1 43 39,8 Liisa Sievinen - Hanna Ruska 3183 3185 Salon Bk
8 8 38 352 Henri Virtanen - Tanja Leander 3301 3305 Salon Bk
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83 2v S -2 a7 -100 60 62 24 S =¢6 110 60 62 40 S 4 4A 200 60
54 2N W +1 ¢7 -150 33 54 2N E -1 #8 50 42 54 4v E +2 #A -680 33
62 2v S -3 a2 -150 33 71 3v N -1 ¢3 -100 24 71 4v E +2 v4 -680 33
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48 3¢ S +2 410 150 60 72 24 W -1 K 50 60 72 6v S = o5 980 60
65 5¢ S -1 &5 -100 33 48 2v S -1 &5 -100 42 48 4v S +2 #K 480 42
72 5« N -1v9vQ -100 33 65 24 E +2 5 -130 214 13 49 S +1 5 450 15
13 34 E = &3 -140 06 13 4¢ N 4 a5 400 06 65 44 N +1 5 450 15
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2022-06-22 Rabbit 22.6. Lopputulos
4 poytid, 8 paria. Jakomiard: 18. Keski: 54. Vertailu.
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Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pari Sit LK Tulos Pisteet
73 3N S +1 10 630 60 24 2N E +3 ¢5 24 IN E -1 #4 100 60
24 2¢ S +2 49 130 42 73 464 E = vA 73 IN E +1 9 120 42
16 3v E = o] -140 15 85 44 E = vA 85 IN W+2e¢7 -150 24
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Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
35 2v E -3 &5 300 60 21 5v W -2aeA 100 68 3Nx W -2 v6 300 60
68 2v S +1 410 140 42 68 4v W -1 93 50 35 3N W -2vA 100 42
74 3 N -1v9vA -100 24 35 4v W = o2 74 2N W -1 &9 50 24
21 2N E = ¢9 -120 06 74 49 W = 93 21 IN W = vA 90 06
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2022-06-22 Rabbit 22.6. Lopputulos
4 poytid, 8 paria. Jakomiard: 18. Keski: 54. Vertailu.
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Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
46 44 E -2 v10 200 51 75 3¢ W -3 &3 150 60 75 46 W -2 9K 100 60
75 2N E -2 #2 200 51 81 IN W = &7 90 42 32 IN S = a5 90 42
32 2N E -1 v2 100 24 32 1la E +1 #A -110 24 81 3# N -1¢Q -100 24
81 3v S -3 &7 300 06 46 38 E = &A -140 06 46 IN N -2 v4 200 06
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Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
51 34 W = &8 -140 60 43 3N N +3v4 490 60 28 3N E -2 vJ 100 51
76 34 W+l 97 -170 42 51 3N N +2vQ 460 33 51 2N E -2 »10 100 51
28 40 W = vA 620 15 76 3N N +2 46 460 33 76 IN W +2 v4 -150 24
43 44 W = &6 620 15 28 2& S +34Q 150 06 43 3N E = vJ 400 06
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